& ETf A +L 5 K12 BY 9 STl EAE

X FRlfE = $ATEHEa — AFSLEREEME x 1,000,000

TEFER IE4 TEHAR FEMEBEE-A)|  ALAR BEEEmA R AfLH
- SHTEE AE-KELEX(AE) | ABKEBETKFE A& an —
= - puril =3 4 Ia 1) AN
TKEEF ORI ETE 510X WA 37,237,000| 5@ 5% AL BRI E STt & 8A 2H
) (2) EDHiEFE
() DEOEKIMA B i R iq%p
TTEY A 53 A
T EDEIIIEE S ERE R i s ~ = ffr #l
IEE% =3 i} 1 # &t % E" ﬁﬁ ?é ﬁtt
¥ DR |LFT| 1| 5 | & |8 | 5 | #| g g | R | M@ i fi fE | 4 =
f‘zm*i t’ii$ :{ko) S E ﬁ T E {*EE E-I— ;_‘I: ’ﬁ“ %‘Z ﬁg "IE %—
MIT |DAR|RRO| & & | & | # A il i
=% "o B3z ¢ ® | g | " % ®
HAERA 2 2 1 5 2 2 4 3 3
S EREE 2 . 5 10 | 100 [110.000
S I | I | | .
100 R
Iz EEBRE S
HHETZ #t [REE8A I | I | I "
P 100 R
1t EEBE S
WEEH K | Aesss I | I | I "
—F 100 R
E-Lan EEBRE S
ABEHE Ht [HEsERA I | I | I .
- 100 R
e ai EEBE R
AshEE Mt|messs| 2 [ 2 [ 1 [ 5 [ 2 [ 2] a3 3 BT AR |
10.000 | 100 [110.000 | 32,812,360 HEDI=HFS
Ea HE R 5 4.000 4.000 2.000 Al &
HELi @ |(meses] 2 | 1 | | 3 | 1] 2] 3] 3] 3
z 7.400 | 100 |107.400 | 32,950,000 3.25948 4
e EEHRE A 2.400 3.000 2.000
AAELE %t |(mEmes] 2 | 1 | 1t [ 4 2] 2] 4] 3] 3
9.200 | 100 |109.200 | 32,900,000 3.31915 3
=%t EEHREA 3.200 4.000 2.000
BIESE st [HEssA | | | | | .
- 100 R
E-Lan EEBRE S
thstext mm|meses| 2 | 2 | 1+ | 5 | 2 [ 2] 4| 3] 3
z 10.000 | 100 [110.000 | 32,819,220| 3.35169 1
e EEBES 4.000 4.000 2.000
KTy (mesex]| 2 | 15 | 35| 2] 2] 4] 3] 3
- 8.800 | 100 |108.800 | 35,000,000 3.10857 5
H#reu EEHRE A 2.800 4.000 2.000
A5hT Mt|messs| 2 [ 2 [ 1 [ 5 [ 2 [ 2] 4| 3] 3 BT REE |
10.000 | 100 [110.000 | 32,812,360 HEDI=OFS
=4t HE R 5 4.000 4.000 2.000 Al &
HEa# A+t |memes|l 2 | 2 [ 1 | 5 | 2] 2] 4] 3] 3
z 10.000 | 100 [110.000 | 32,819,220| 3.35169 1
e EEBEA 4.000 4.000 2.000 ©

ATl R D KRR BT/ DR LU 3HTTH M. AL E R E O *IE TIXFHT1E DA IHTEILER T



